EARAZROREIERT — 2 N—XBISY —F 20175128238 (£) 5EIBR#H7H

Pl o % 2% KBF GRE) [EE] BE ‘ (X ‘ (3ekpshT]  — | & (%) 1800M &
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s N - 2 | M. F4—nO :55. -3-3-2 . . o | BE—% (EH)
1 6| EX/=TIFT b & 550 1(5_5)5 §as 8.3 8.6 1 3) ) ¥vE&RIL - YZFL
L:TANVKETy Y2 BiEa—-F1—EX EEX e
o o2 | BEREN 1:55.8 15-15-14-11( 37.4 | 82.9 | 4 464 | BR (FER)
21816 79/ HhHRZR 55.0 (1 3/4) (+4) ExNLE
R:ZAR—3I2Fk—L B:TrLyR H—L—+ T vIN> . T7—LBRS
B o2 | JIXEE 1:56.2 2-2-2-2 [39.2]79.7 | 10 | 49 |HBT (BR)
3|8/15 ¥ * 1 453.0 @12 ey | FRILES
R:Nd B:7a—FR— L4 AARPRERF = ASE KRS
. C. JLx—Jb . 44— 248 (FR)
4 Sl 811 ERS o2 $o 1(;3?:)2 4-4-4-4 | 38.9| 79.6 | 2 (5_024) Euﬁﬁi%
R:YLKYIYRIR B:IN—EZX% J—H T p—Lh
N 1BKI— :56. —5-4- . . HREEE (EX)
5 3| ¥—FHIL o2 e 1(/756@3 5-5-4-5 |38.8| 78.8 | 5 ;1:320) =§EEH%E
XL TAANXN B:S145TX J—YTr—LA
— s s NIATBIER :56. -8-8- . . BE#EH (FER)
6l1lo|FL5vv=n o2 35_0 1(15/62>4 9-8-8-6 |38.6| 77.9 | 9 2)18 Eaat
L:T7RAOXLTEL B:FLTx% B
= =HE : ~11-11- AE—R (EX)
2yl oLzxaersy o2 RN (11516/46) 11-11-11-9 | 38.5 | 76.1 | 12 gz) Rz
LI INATA—H— B:TVUTLRIN BENS
gl7l1a| VY —< 1 25— o2 e 1.(526).9 10-11-10-6 | 38.9 | 73.6 | 7 (5_03 s
R:v>NyBg>hT7x Biky hTLAN— [EalEspaed
o7 e - 4 2 | EREEX 1:57.0 1-1-1-1 | 40.1| 73.4 | 6 482 | EEB— (ER)
9 4 HhATET7—= 55.0 (1/2) (0) ARSI HIEEE
LNZ—ka21—X B:HTHITVEX =0 E%E
— s = = 4 o2 | ESEME 1:57.2 13-13-12-9 [ 39.0 | 71.1 | 14 | 422 |@E@#EB— (ER)
10N g | 7N~7 217~ 55.0 ) (-6) |ZATLANTTT ()
L:RY—LTv—=— B:HALAI+XI> e
NN ;= FRIOABR : -10-8- BEER (EXR)
1lslio 1xva-73v2 o2 A (11517/‘3 11-10-8-11 | 39.3 | 69.6 | 15 (54:66) et 5
L:hE—XT—F— B:OCFCTF57— NEFAIS
. 3 FEH : -16-16- BORAIE (ER)
1207 13| ¥ 1 v amiy— o2 e 1.(537).9 16-16-16-15( 39.1 | 65.2 | 11 g)z s
R:AM4vayR—5— B:/N—a-Z b AE K
i t 2 | KEE 1:58.1 8-8-6-11 |40.1| 64.5 | 13 | 414 |=iEEZ (B®R)
136 12| 7R * #54.0 (4 1/ ) ) S —ZENT
RL:N—RZIN> B X4 — ARy —% #E /—Rex
N = E R :58. —6-6- . . FBR (EX)
M : RELEETE o2 i 1(:&;; 6-6-6-8 |40.4| 64.8 | 3 (5+128) B
RiN—5— 97 BEFIN—%> FEBHS
o ZEBEAN : -13-12- BEERy (EXR)
15 5|3Ava-7UTY B2 e 1(.35/%2 13-13-12-14| 39.9 | 63.5 | 16 ;4514) el
R:7U*—-v B:xavIATSLT7— e i
. S s A NN&E= : —6-15- wEZ (BR)
16159l EXATTLH— o2 e 1.(528).5 6-6-15-16 | 39.0 | 59.9 | 8 zzg? bt
L BATAT v — BiAd—IS— hF— HKXEHt /-
@ 71 L
) 51.7-38.6
NA>Z24 L | 12.8-11.2-13.2-13.1-13.5-13.1-12.7-12.8-13.1
® I —F—@EBIERL
1T=7r= (x4,15)6,7,3(11,9)12,2,14(1,10)-(5,8)-16-13
20—+ — 4,15,6,7,3(11,9) (2,12)10(1,14)-(5,8)-16-13
Gol=5r= (x4,15)6(3,7) (11,12) (2,10)14,1(5,8)16-9,13
43 —4— (¥4,15,6)7-3(2,14)11(1,8) (10,12,16)5-13=9
[ N3
H OB 6 190M4 714K 6-16 350M e E 3-8 1,060M JEHE 6-15-16 27,260/
8 B 6 110 6-15 4,300 B = 6-16 1,180 B 6-16-15 71,560
16 1909 15-16 6,560 B H 6-16 1,480/
15 1,440H

ABICOVWTRDTEEERROODE. TR LIV,



